SF5E2H FERGE T EBRLE

)1

WM G R A —

1 HOK) 2HCR) 3H) 6H(H) THCK) 8 H(K) 9H(R) 108 () | 13H() | 14BCK) [ 15HOK)
y7ME—re =y X —2 [T LT Fr— | FET T VI g1 H Ay~ SN H BT — A FZII A | == AR E AR T EA | R T FA FZII A
e vagee | ES P ISP S 58|k ¥ 2k I B =ES 70|z 12]vmmneesn | 158K EE ISR IEES I ESE SRS 63|k K5 K O ESE SRS 70
FOER Blwdstex ik | 5.8|mktex Kkhik| T|msbex-khix| 7|2 rUA T —  |HPOL(BEE) 12]mtex khik]|  T|wsteE-khik]| T|esbhE khk]| 6.3|ksshE kkik]| TlesbE k]| 7
Ku(EE) o] A|mebastoa | 2)WbLoZF o oYX oy ——r—z| IARNNZACA 12[EDI/ 2 —RPEX R Bt 27 R Bo [ 20|95 HETIEIDHE
SV 8lLrow (zv<B) | 2.8|viblqon-pix | 1R |mobiozxasm | 19 osrrvrcom | IE[IFESW 18l&hn 1B (Fk ) 18[Lrow (zv sy | 1.5 %E(%%(%E)l 12 |mernpoxam| 35
IZACA 20 | AFEIETE 1.9|LxHAs 1|3 (&) 0.15| B 374 Lot azLaemn-m | 10| ARG 2|72 Dz KA 12| AEEETE 0.8 BEX DA LT | ARG 1
Xy 25[ZLXD () 0.035| AEEEE lzLxs(B)  0.02]Fvy > 35 eI 4| = iRpE 3.5 FLearnwo|  5lxewe Geatn) SlESIE-4 1|LrHn-BAL] 0.2
¥ 10|lz iz - 35| 0.19] 3 7=< vk 6| AR 1L.5[\CACA 8loremokz-Lian| 14|Lrrw (cus) | 0.8[F 7y T7A 9l FLLvidEn | 1| AREESE 1.6|Z1F5 15
e wekm | 3|ZEWVITE) [0.47) Kk 3|20 AR 0.9|e szt | T|RE 9.6[3F 1 () 0.1|RXOk#FRZ)| 3.2|72Dz-/kE&E| 154 (&) 0.4|737=<0¥) 8
PERZLOHE PAEUNES 8| AR & 2L (cvs) | 1Eezkvyse ] 8lLea(cuvs) | 6|HE- KHEE 0.5|LxH23- 55L[0.45|ICA LA 15| ASHgE 0.5 KL 3
I 9fiEEnELF)| 16|Z0ackBoA)| 15| ZiEbE 0.15)2MF bR —Va [ZLxd (H)  [0.08|#2CKk) Haz]| 3.5|2Lxd (F)  |0.02|mbks- X5 1| =i L5|bB0nEEFL)[0.08
peba—L—| 12|RE 5| = EmE 2.2|757=<0k) 0.04|FHEENIE DR | 10]20ACkAZA)| 12T R—X 6]h7 R Pr e [0.36|Lid (cuh) | 2.2 L (cus) | 23| (00 TF) | 0.6
Hi (B 0.3)rzxmorrs2m [0.47[L 59 (21U < B) 3|FEDHFDYTH WEENE bR | 40| 7L —28i 3oz mrn| K L9 (2 <n) 7|46 (&) 0.8V A 20| = EKE 1.5
=z rp-y-2)| 2.5|Z Fil 0.47|ZF (T F) | 0.6Fr 15|/ -#z 0.02|HAHTA—T 5| HLHITA HE - KR 2.7| A L5|ZFfnx Lrow (Zuvh) | 2.3
B XS b LAVE 9|7k 1|Zwob 10]7=Fh& 30| h#EEEELOF] L8|mbbioxcEm | 10| =ibE L8)rosmoryzrm | LfIE<EWN 35| iz 1.2
FFagnF—x| 3R —rav~wsg |07k 0.06| x50 mekim) | 8|PEEZLOFE | 1.2|wEs-sttom|  3[ZIED 5[ZE W 0ZF) | 0.6]z—rvar~a Bl GEE) 15K 1
AL GR) Ls{Lwr el 2z|wrvsz KE(EpE) | 6l 0.6[szxmoesrzrm| 0.3[1CACA 5|20 | 0.7]a—r v av~q| 2z]cFEon 12|5D1EH:
yosmckroi | [FEFTL ER a4 35|ZFRL | 6lsormekrormn | 05| (i) 0.1|1x9 (Aaza)| 15|ZFi i1 SE2LIE 2 MEIUAUNEIN BIRY PEy/RTE </ 57 B!
lzAlz-BAL| 0.6[F9H0 8licA LA 5| EERO <> |AFALEHEA) | 40|50 ZAATRKIR) | 18] ormerssxim | 0.9]FwH0 22| FE(FVTH) LmvogoxEm]| 5
LxH2s-BAL| 0.6|Fr~> 17|espnztammn—sn | BIRE-MEAORED| 20| H#7THy 2.5 b x| 40| LU= | 0.8] V0 ER 10]13<&EN 20fLo (cns) | 2[IcACA 7
g g | 4HLGRED | 20]@ha0 0.8]72\ 2 A 90| 7V — 1 5L (cuvh) | 2.2 VAT A 2|5 Xa— HL Gk E) 1 avackzn)| 0.5 FLLVE=TE)] 1
WY N — 4|hEENL Y| SAEBIL O3 Lo (zus) | 5.8|H (A1) 0.4|Lx53 L8| k- S 1|Fary 22| h#grL sy 8| BEDRZ biikolva 2.1
FAEV 7= iEohatiangiz—7 [ FLineEaG | |EPEE-hES | 3.5[2Lxd(A)  |0.02| AR 0.45|Lidw (zu<b) | 2. 1| K G v A—T HAE 20| 4= FLGRELH) 7
Fobr—xoF| 20|08 G | 15k EAT 1| AEE S 1.8|m—y= 0.01| ADA(KRAZDA)[0.45| B0 AKAZDA) | 0.6| by ADEEEIAA—T |72 8| L ORH) 10|k FEe | 0.9
AL GRELA) |13.5)icACA 10]720VW A 32|Lxon 0.2 | it N 22— 0.3| X 2.7 FnEZLoFE | 0.7]3=by” 15| ~—=trzanso|  5liHEHT 2|Ld9 (53< k) 2
I8 (i) | 6.5|7-FnE 15| B4 16]7k 22 2Nz - AL 0.15 | AT i ESeA 20 1E<E 20| ¥ 10[FnJE7ZL D% | 0.6
=ik 4|pxmxEziEL|  8[ICALA 12[3=7vusPy— N 12|psxmorrorm | 0.8|72FhE 10 6|lcACA 6455 Gk 47 i) 1
eSS — L3NIFHNAED 10|25 8 T'lzr—l*?%f'}*i'-l 12 PRI | EEodFELH stz okl | BICACA 10|72V (] petey 3.5
FANy 7115 U hERELOFE | L2[ihd 4 74 TECRHE) 30[icA LA lFL ez | 0.5y | 0.3|k 4.2
KARYZ 5 HWHTA—T 2| BeE IE 16 ~n=— Y ZDET 10|z 5L G3<n) | 2.2|EA% 3.9| A 0.5
ANV 37 L 59<n) | 0.5|mberxam| 4 Fp Y 15|h& 8|@B AT A—T 5|4 (Fu i) 0.25|meck) setasenz| 3.8|HVAKZYA)] 0.4
IZACA 5|4 (friE) 0.2|&FL 1.6 IZALA slicata 8|higm L] 0.5|2Lxd (A)  [0.02)&TL 25| & Eit
ZEON 71ZLxo () |o.ol|Lwvs)| 4 LU T\mEFEZEL)| 3|l=Fvrr 0.01| @R LOHE| 1.2 P autan) | 15
grzrrysr sl 5Kk 0.8 | AR iR 1.6 HEANPPO I [BSTICE RN B [BSTICE Re =) IR1 S 2 IZACA 8
BB — I AR I ) 1 TR TL—JHi 3|4 (AR 0.1\ HIFA Uy o TFnE 23
B t)— | 1z|mine BaaQ) | 12| e 0.05)2Lx5 (1) Jo.0t]vemrovwoe o] 148 RDETF 10
fi g = EE FEH73 h& 8
{157 [ i-]emirsses ] s 150 H5% sozzzizeL]| s
<ok | oelTr—rf 3
ALY Lo (Gi<e) | 4
e | 1ol e 0.1

KERHERICH!

TDRBRDK « K

INER) « KB - SOTH - ERM - BA - +A

< KEIE MK

CRIMEMBESE ) ICXO, & )08 - JAD)

L=Th oD ESITTNET,

I Anfl &%

I6HCK) | 17HGE) | 200(H) | 21HCK) | 22HOK) [ 240 | 27H) | 28H(K)

e RE A —TAA R IFA P SN -2ave ANBZ1E P3aE PaalEY B T3A *x28HH3nA A svbr—xoFEfin ~—svrr—x
pisnaoo-ozer | 81K RS K 70|k ¥ 2k 0Pk aaem| 1z]K-R ek 55K ¥ 2k I ESRiIEE'S I ESRiIEE'S 69 B PINER b oS T KT
b RO | 15)steE Kk st khiz |~ == X sdstex ki | 5.5kt - Kok T|Frite& oz TPk-Ek-vbx] 4.9| =774 WRIIE NETAK fraT s — RESEE
Fy Y 45(C= A3 35| fiEDifEfEE ~—sore—x]| 1Zficata 26|@mHTEOH T XL Lob ol — KBS [smtex khize | 1.9|xe oo Gh) | 1R ~—xoroy— gL B
TeERE 9|7cFhE 30|xasggE- 2| 1Y WAZAF YT ARREER L8|V =g 7Lt 2J [ () 0.34| K& it 6.5] 7Lk FE SREE TN I
trnEx | 14licACA 20| AR 0.5 T (MAzA)| 25|mubieLcsm| 13[AFLGHEM) | 22| hemagsnim |  5lBHO~—vL—REEx PRIy F vy LOfFE tah (B430B2) PV~ F o FE
IZACA 14|pE-RErFOED|  10[HE (Ati) 0.4 KE i 2|cilznk (ox)| 8|FhE 14| 07<ky 0.8|mb b o= | 1O KT
Hr—<rAl 3IFHhAE 12|OLEOFEA T i (R 0.04| 2sentmimio—r | 19| FH0 (Ruign) | 2.4 4 (£25) 0.13|&>F 520120 A BU— f228 Hexrur sy
wormckrsrm | L5[iEF thaza)| 10[OL&E(FL) 2| AV TH FLLWETE)[0.75] v =oreax—x| 7L —8 0.32|Lxo25- 3501 | 0.5/ KEih L3RR s A it JIZVR]
v—2@as--0|  16|FAEEFmEEL) | 8[ICACA 5|estaztam]  AFNEIZLOFHE | 094 (1) 0.05| K it 3.2|7 A1) 1| =iRpE L8k b womzpmE] NER ~—HVU
HTLI 0.45|PEM7ZLdFE | 1.5[Hd1T 1[ZwiY 10|Lxow G3<H) | 4.3|2Lxd(A)  [0.02)k 6]~—~L—F Ledw (zuvk) | LfERMEL AR R I foi FE
i (R 0.36|y—=(2s—v-0|  5lmregoxaam|  3[FYY 10|Lxow (zvh) | 0.8) o #y-tate | 2.2|0vFnx L (zuvh) | 0.5) BT F 0.45E'#3C K [R5 —F7)—1]
ZLXH(H)  0.02]rFagrr—x|  2|l&oFnd 10[ 7> Moo 0.5k 1S 0.76]r9m5 20| 3[FF Y 20| B0A KRB 1|B0A (RA0A)0.45 P S
bEOVEFETFL| 015 (1) 0.5\ KEi #eervorer|  8lvormokyorm| 0.97rwny7aspn| |Fo7 o y74] 10]k L|Hr &bt 70 oA r—y—e—o) NEEINEE RbbE
TR B Lioa-BAL| 0.2/fEAZLOHE | 0.3 R—r—X 7K 0|NAZAYTH TE7<db, 5[ 7=<0¥ 0.1|7mya)— 39 i caky FEEEREH BERE VLo
ave| 12| AL — Az (2F) 4 REEE) dT| 20| HOOBEIIT 13T (hAazA) | 23|7238BY 0.3| HEEATUD —fvax—X| 148w & werk kK| FEE ok Fra—2
PNITR 5| Mtk a2 — seva | 3|eFERE 50[rrim(BEE ) | 22 X950 B|ZE (W E) | 0.5|Cavg 18|2=h~h 22 HOKA LA Bk
ek ik | 2.3 028 (i 2 ) %) | 0.3[IcACA 15|5300ETFUL[0. 15| OLE(TL)  |0.45| AL ZiE) 6] BINT Y —b 13H a—rvar~A
WEE. LakE | 18 F vy 3lpoximcerozim | 0.7|Coh3 0 20 hzm (g | 6]esvaciam-a| 45 EbH-IERHOI]  15)ICA LA olsporr—r 1wk a—r Enx
[z i 2.3|ssxmckssrm | Lrod o) | L5|mbb-Iaroom | 10]HIp Gukigsn) | 3 o I [PV VA 0fzaice< ()| 7 R Wb i
(36 0.09| kTessz b o |k - P &5 AT A 3.5\ KEMH 3t TeEnE 40|V AT A 3 = A RS R 2L
DT ayal— | KRE(EE) | 7.2\ REEEHE 0.7 (50 0.2|77=<0%) 1|7=Fh& 20[icA LA B|IZFE I F) | 0.7 B UNERy Ty
Tyal— 35| 7=<0ky 16| x50 (eskin) | FFagnF—x|  Alresay—rrrvoysxr [N A 15|z 250 (tekm) 5|t vy | 2.3 B FEK)
FERL 7| 5lEoFENG 8| &roe kv TFxvs 17 aya)— 20| HLE 10)2aiz< GR) | 10[4E () 0.07
ATV 727 A 2.4| EIEECRHR) 25|ZLxo(A)  |0.03[Fv Y BlFLLv G| 1L cuds) | 4.6| ZiRpE 1.35 16H A7V
SA7Yy | 1| ZiEsE 1|ihd e RIEEEN 0.01|IzA LA 5|bb-iattocm | 15|k hES | 3.1 ysrmokssrim] 0.7 S Kb La—h=s

Lrod(zus) | 0.8[ICA LA glm—y= 0.01|e58 5L a2 5By | 0.3[FEFELDZE | 0.5] kg [ RIS e T e |

BOACRBD)[0.24] 0 Mo | 02| EEZLOFHE | 0.9|FERL vy 8lhaE HEN e L1|E#F 10 e N 2 ]

K 0.5|72V A 15y—=2@rs-v-0| 4| PIEOTELH FTL 2.5 555 m kg5 IZACA 8 FLACHI FRE Ry 8k

ZFEMWITF) [0.16]F =k 0.6 £ HE(4E) 8|54z 8|\ A AN 15 JraF AR

ZFEEFVTF) Jo.16)ETFL 2.5|7A () LAlicACA 8lvAZ WA | I B 13 (BT ALk TOHE

fEAER TR nzoR) etzenz | 3.8/ ek (pgiE) | 2.5 X DE7T 8lWAZ | 148 Jrvhbrd | 0.4 FRANY K HTALEH

w13 ERT 3.9| Mt /R & — 25| & 8 hs 6 FALH e

Fp Y 10la—7vk yoximcerzzan | 0.6| FLLW @) | 0.5 ZDET

boeL (k) | 20j2—2snah | iZ|ieiea—r—]|  7|TL—2f 3 FTL 2.5 20H F—7 Lk

\ZACA 5 7527 —2%|  2lLowGis) | 4 k) esEnz| 7.7 AR bRE FLEYS

FF DXTA7 ) — i (236 0.1 HOAZ I FIAEE EXR

47 0—v] 148 BEX UL BN st Giva s | 148 R AAK

BeE7 U sk 1z
NIBRDABEICDVNTCERN DDA, HREYY—FTITHEBLIIZE0N,

XEFIBBDEEY,

KO8

(g) [ NERZ, 4FFEEDIYRETI,




